BMAT S11 Critical Thinking (20031 19)

Assumption

2003

23  Gardeners are being encouraged to use alternatives to peat, as peat harvesting endangers the
wetland habitats of wading birds. But gardening has become the most popular hobby in the
UK, with thousands of people visiting garden centres to buy — among other things — peat-
based compost. The habitats of wading birds will therefore inevitably decline if gardening
continues to be so popular.

Which one of the following is an underlying assumption of the above argument?

A Gardening will remain the UK’s most popular hobby.
Gardeners will ignore encouragement to use alternatives to peat.
The declining habitats of wading birds are being ignored by environmentalists.

Garden centres cannot provide cheap alternatives to peat.
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The habitats of wading birds are under greater threat than those of other wildlife.
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32  Recent threats of terrorism in the UK have resulted in fear of air travel, and consequently
more people are taking holidays in domestic resorts than abroad. The consequences for road
planning, car parking and the rail network are immense, and travel agents risk going out of
business. The government must act quickly to plan for these changes in holiday patterns.

Which one of the following is an underlying assumption of the above argument?

A
B

People may be tempted by bargain offers of holidays abroad.
The government is not willing to respond to these changes in holiday patterns.

People will prefer to use private cars rather than public transport to reach their
destination.

There has been an over-reaction to threats of terrorism.

The change in holiday patterns will be more than a short term phenomenon.
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6 Recent research has shown that people who keep pets tend to live longer than those who do
not. The explanation seems to be that factors such as increased exercise (for dog or horse
owners), the soothing properties of stroking a furry animal (such as a cat) and the emotional
benefits of affectionate relationships combine to benefit human longevity. Everyone who
can own a pet, should do so. Obviously this suggestion 1s not appropriate to people who are
allergic to animals.

Which of the following 1s an assumption of the above argument?

A People who have allergies can never have pets.

B The more pets a person keeps, the longer s/he will live.

C  Dogs, horses and cats are always affectionate to humans.

D  People who have never kept pets may not appreciate their benefits.
E  Everyone should try to live longer.

25  Gardeners are being encouraged to use alternatives to peat, as peat harvesting endangers the
wetland habitats of wading birds. But gardening has become the most popular hobby in the
UK, with thousands of people visiting garden centres to buy — among other things — peat-
based compost. The habitats of wading birds will therefore inevitably decline if gardening
continues to be so popular.

Which one of the following is an underlying assumption of the above argument?

A Gardening will remain the UK’s most popular hobby.

B Gardeners will ignore encouragement to use alternatives to peat.

C  The declining habitats of wading birds are being ignored by environmentalists.
D  Garden centres cannot provide cheap alternatives to peat.

E  The habitats of wading birds are under greater threat than those of other wildlife.
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2 “The traditional school sports day — featuring races with clear winners and losers — is being
replaced in some schools by “fun days” of non-competitive games. The rationale for this is
that the self esteem of children who always lose in competitive races is damaged. Butin
adult life, competition for jobs, partners and social status is unavoidable. Schools should
recognise this and revert to traditional sports days.”

Which one of the following is an assumption of the above argument?

Children are not naturally competitive.
Children who lose competitive races will be unsuccessful in adulthood.

Non-competitive games boost children’s self esteem.
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School sports should prepare children for adult life.
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